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"‘1‘1'}] If the wall in the figure is 4 m long, calculate the total force on the all due to the oil pressure
Also determine the location of the center of pressure and show the resultant force on the all.
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[Ll-i.ﬂ The flow from two of the troughs passes into the sump, from which a round common clay
drainage tila carries it 1o a storm sewer. Determine the size of the tile required to carry the flow

(500 galfmin) when running hall full. The slope is 0.1%.
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Y-28) Compute the magnitude of the resultant force on the indicated area and the location of the
center of pressure. Show the resultant force on the area and clearly dimension its location.
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A= (bez"y)"(y)
r=(A)/(b+2ySQRT(1+22))
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